
 

Vraag gesteld in Toelatingsexamen Burgerlijk Ingenieur in Gent , 

Eerste zittijd 1978 

Als ⌈𝑴⌉ = ⌈
−𝟐 −𝟗
𝟏 𝟒

⌉ , 𝒃𝒆𝒘𝒊𝒋𝒔 𝒅𝒂𝒏 ⌈𝑴⌉𝒏 =  ⌈
𝟏 − 𝟑𝒏 −𝟗𝒏

𝒏 𝟏 + 𝟑𝒏
⌉  𝒎𝒆𝒕 𝒏 є 𝑵𝟎 

 

Bewijs Recursief 

Voor m= 1  OK 

 

⌈𝑴⌉𝒏 = 𝑴⌈𝑴⌉𝒏−𝟏 =  ⌈
−𝟐 −𝟗
𝟏 𝟒

⌉ ⌈
𝟏 − 𝟑(𝒏 − 𝟏) −𝟗(𝒏 − 𝟏)

𝒏 − 𝟏 𝟏 + 𝟑(𝒏 − 𝟏)
⌉ = 

 

⌈
−𝟐(𝟏 − 𝟑(𝒏 − 𝟏)) − 𝟗(𝒏 − 𝟏) −𝟐(−𝟗(𝒏 − 𝟏) − 𝟗(𝟏 + 𝟑(𝒏 − 𝟏))

𝟏 − 𝟑(𝒏 − 𝟏) + 𝟒(𝒏 − 𝟏) −𝟗(𝒏 − 𝟏) + 𝟒(𝟏 + 𝟑(𝒏 − 𝟏))
⌉ = 

 

⌈
(−𝟐 + 𝟔𝒏 + 𝟔) − 𝟗𝒏 + 𝟗 (𝟏𝟖𝒏 − 𝟏𝟖) − 𝟗 − 𝟐𝟕𝒏 + 𝟐𝟕)

𝟏 − (𝟑𝒏 − 𝟑) + (𝟒𝒏 − 𝟒) −(𝟗𝒏 − 𝟗) + (𝟒 + (𝟏𝟐𝒏 − 𝟏𝟐))
⌉ = ⌈

𝟏 − 𝟑𝒏 −𝟗𝒏
𝒏 𝟏 + 𝟑𝒏

⌉ 

 


